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(A) Constant (B) Continuous Variable (C) Discrete Variable (D) Both Aand B
(4)  Total of relative frequency is always:- ;

(A) One (B) Two (C) Half (D) Quarter
(5)  The graph of frequency distribution is called:-
(A) Historigram  (B) Pie-chart (C) Dgive (D) Histogram
(6)  Row caption is also called:- (),
(A) Title (B) Body b/ ) Bax-am (D) Stub
(7) A pie-diagram is represented by a:-
(A) Circle (B) Square Qﬁ&‘l‘nmgl: (D)) Rectangle
(8) __ average is affecied by extreme values. O
(A) AM. (B) GM. (CYH. MO,{_ (D) Median
(9)  The mean of 5 values is 10 then sum will be:- ;
(A) 2 (B) 15 (C) 50 (D) .l‘:"a 4

(10)  [fa distribution has two modes, then it is called:-
{A) Uni-model (B) Bi-model (C) Tri-model (D) None of these
(11)  When the price of a period is divided by the price of the preceding period, we obtain:-
(A) Price Relatives (B) Link Relatives (C) Quantity Relatives (D) Value m
(12) ____ average is the most suitable for computing chain index nos.
(A)AM. (B) Median (C) GM. (DYHM.
(13) Base year quantities are used as weights in:-
(A) Laspeyre's . No,  (B) Paache’s 1. No.  (C) Fisher's L. No. @H
(14)  The probability of an event can not be:- |
W =0 @< © >1
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6 Find Arithmetic Mean of the following valucs:-
o 10, 15, 9, 16, 12, 23, 21, 25, 20, 9, 10, 22, 26 and 28.

(b) Find Arithmetic Mean for the following data using short — cut method. _
Class interval | 20 25 | 25-30 | 30-35 | 35-40 | 4045 | 45-
Fregquency 10 12 15 18 9

7.(a) Find Median for the following data:-
43, 38, 36, 37, 48, 504452@535443

(b) Fnrﬂufollumngdah.uhtmnﬁw O,
|Gmup 0-4 5-9 | 10-14 @5\—19 20-24 | 25-29 | 30-34

A 11 19 xRk 20 14 9
0
8.(a) Convert the following prices into price relatives usu%hmn Base Method:-
Year | 2001 | 2002 | 2003 | 2004 | 2005 ) 2007 | 2008 | 2009

| Price | 24 25 28 29 31 33 T35 42 51

(b) The price and quantities of three commodities are shown below:-
Prices (Rs./kg) | Quantities (kgs) |
Commaodities | 1993 1998 1993 1998 o
Wheat 5 10 50 60 e
Barley 2 2 100 120 {8
Maize 4 6 60 60 -
Using 1993 as the base period and the base period quantities as weights, =
compute the weighted aggregative price index.

9.(a) A coin is tossed thrice. What is the probability of getting (i) at least two heads

(b) A bag contains 7 white, 5 black and 4 red balls. If two bals are draw
find the probability that (i) Both balls are white (i) One is ¢
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Give two characteristics of Statistics,

Find Arithmetic Mean given that X =20+ 2u, I fu= muﬂ--lw
(viii) What are important types of Averages?

(ix) Write two properties of Arithmetic Mean.

Attempt any six parts.
(i)  Define Data. Q
(i)  Define Qualitative Data. (/L .
(iii)  Write main sources of Primary Data. \S‘/
(iv)  Define Secondary Data. 5

(v)  Define Price Relatives. '@O,

(vi)  If Paasche's index number = 74.76 and Laspeyre sqlesx number = 75.76,
then find Fisher's index number

(vii) If Tp.g, =481, Ip.gq, =402, find Paasche’s index number.

{viii) Write two uses of Index Number.
(ix) Define Simple Index Number.

Attempt any six parts.
(1) Define Classification of Data.
(i)  How an Ogive is constructed?
(iii)  Differentiate between Class Frequency and Relative Frequency.
i 'lfm'ﬂhﬂl iinuunfﬂndmare 13 Iﬁ 27133, 35-44, 45- 53,




